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(1) V5x7 ZFHE LRSIV,

(2) V30++6 ZFFH LRI,

(38) 4V3%+va DBITEK LIRSV,

1) 7V3+2V3 EZFRE LRIV,

(5) 9V3 =53 ZEFHE LA,
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(1) x+y)(x+y+2)

(2) (x+3)(x+4)

(3) (x+9)?
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(1) 3ax + 5ay + 4az (1) x2=25

(2) x2—-11=0

(2) x?—=7x+10

(4) 5x*—-25=0

(3) x*-81

5 (x—4)2=7
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(1) V21 x+V7 ZEELARE W,
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V8 + 72

V75 — V12

5v2 —+/98 +/18

V5(v/10 +20)
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(1) Bx—-5Bx+1) (1) x2 —11xy + 30y?
2
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(3)  (4x + 7y) 3 22 —i—g}’z

4 (9-30)(3Bx+1) 4) ax?®+9ax + 18a

(5) (%x+5)(5—%x) (5) ab?—25a
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(1) x(x+8)=0 4) x24+10x+25=0

(2) 2x+3)(3x—-5)=0 (5) x%—3x =140

(3) x2+3x=0 6) 3x2+6x—24=0
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x242x—-7=0

2x°+7x+1=0

x2—6x—-5=0

3x°+4x—-6=0

6x°+x—2=0
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(V7+V3)(V7-+3) ZEHE LSV,

(V3+2+V6) #aLAS,

(5+v2) = (2+3VZ)(2-3v2)
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(1)
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(3)

ROXE R Z LS,

(x+6)2—(x+12)(x+3)

2x+3)2—(2x+5)(2x —5)

(a+ b+ 3)2
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(1) (@a—4)?%*+a?>—-(a+2)*+8 ZHR%&%m
L7200,

(2) (x+3)24+7(x+3)+10 ZREHML
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(3) x2—25y2—6x+9 RO LIRS
v,

(4) 552 —452 ZHBE LSV,
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1) (x=3)(x —4) =—2(x - 3)? x+y+z=6
(1) 13x—2y+2z=5
4x+3y—3z=1

2) (x—3)2-5x—-3)—14=0

2x—y+2z=7
(2) {3x+2y—z=-16
—x+3y+3z=5

(8) 2x(x—1)=x%*+2x—4
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(1) 41-=-7=
(2) 71--8=
(3) 33+7=
(4) 935+8=
(6) 10--9=
6) 11-—4=
(7) 60--8=
8) 11-=17=
(9) 71--9=
(10) 31-+9=

(11) 30+4=
(12) 13+9=
(13) 53=+6=
(14) 60+7=
(15) 11+3=
(16) 40 7=
(17) 52+8=
(18) 12+8=
(19) 50-+6=
(20) 50-+9=

(21) 80+9=
(22) 20+7=
(23) 63—+8=
(24) 55~7=
(25) 31-+4=
(26) 51-+8=
(27) 23+6=
(28) 11+9=
(29) 20+3=

(30) 51+7=
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(31) 62+9=

(32) 51-+6=

(33) 10-+-6=

(34) 34--9=

(35) 43-+-9=

(36) 11--6=

(37) 10+-4=

(38) 44--9=

(39) 50+8=

(40) 70-=-9=

(41) 33+9=

(42) 50-=-7=

(43) 30+8=

(44) 54+ 8=

(45) 62+8=

(46) 22--8=

(47) 10-=-8=

(48) 31-=-7=

(49) 26--9=

(50) 40-=-9=

(51) 21-=-8=

(52) 10=-7=

(53) 60+9=

(54) 14--8=

(55) 93—+ 7=

(56) 30+7=

(57) 51-+9=

(58) 13=+7=

(59) 32+17=

(60) 52 +6=

(61) 53+8=

(62) 12--9=

(63) 41--6=

(64) 61-—7=

(65) 70--8=



